  For – repetition structure
For repetition structure looks like this:

For (initialization; condition; increment)
Statement

Example 1:

Print the numbers from one to 100. Vary the control variable from 1 to 100 in increments of 1(increasing by 1). Use for loop.
Example 2:
Print the numbers from 100 to 1 in decrements of 1(decreasing by 1). Use for loop.
Example 3:

Print the following sequence of values: 2,5,8,11,14,17,20. Use for loop.
Example 4:

Use for structure to sum all even integers from 2 to 100.

Example 5:

· Program to calculate compound interest using  for structure
· A person invests $1000.00 in a savings account yielding 5 percent interest. Assuming that all interest is left on deposit in the account, calculate and print the amount of money in the account at the end of each year for 10 years. Use the following formula for determining these amounts:

a = p*(1+r)
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· p is the original amount invested (i.e., the principal),
r is the annual interest rate,
n is the number of years and
a is the amount on deposit at the end of the nth year 
_1390760024.unknown

